
 

Year 6 

Addition 

addend + addend = sum 

 

Column addition  

 5 1 . 8 9 0 

+  3 . 1 2 8 

 5 5 . 0 1 8 

  
1

  
1  

 

 
 
 
 
 
 

Year 6 

Subtraction 

minuend - subtrahend = difference 

 

 

Column subtraction                           

  6 

  1

1 1 

  7 . 2 3 

-  3 . 6 7 

  3 . 5 6 

 

 

 

 

 

 

 

55.018 

whole 

51.89 

part 
3.128 

part 

 

7.23 

whole 

3.67 

part 
3.56 

part 

 

addend 

+   addend 

sum 

minuend  

-  subtrahend  

difference 

 



 

Year 6 

Multiplication 

multiplier x multiplicand = product 

 

Short multiplication 

 

 

 

 
 
 
 
 

Long multiplication 

 

  3 . 2 4 

x    2 6 

 1 9 . 4 4 

  
1  2  

 6 4 . 8 0 

 8 4 . 2 4 

 
1 1  

  

 

 

 

 

 

 

 

 

 

 

  1 3 2 4 

x    2 6 

  7 9 4 4 

  
1 1 2  

 2 6 4 8 0 

 3 4 4 2 4 

 
1 1 1 

  

 1 3 2 4 

x    6 

 7 9 4 4 

 
1 1 2 

 

 

multiplicand  

x  multiplier  

product 

 



 

 

Year 6 

Division 

dividend ÷ divisor  = quotient 

 

quotient  

                       divisor   dividend 

 
 
 

Short division  

8560 ÷ 4 = 

                     2 1 4 0 

                                    4 85
1

60 

Th 

 

H 

 

 

T 

 

O 

 

 

     564 ÷ 5 = 112 r  4 

  

 1 1 2   r4      

5 

  1   

5 6 4   

 

 

 

     564 ÷ 5 = 112.8 

  

 1 1 2 . 8 

5 

  1  4 

5 6 4 . 0 
 

 

564 ÷ 5 = 112 

4

5
 

  

 1 1 2     r4  

5 

  1   

5 6 4   
 

  

 

This is the division bracket. 



Long division      

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

1.     4       

            

 1 5  6 3 8 7 0    

   - 6 0  (4 x 15)   

            

      3       

            

2.     4 2      

            

 1 5  6 3 8 7 0    

   - 6 0       

            

      3 8      

    - 3 0 (2 x 15)   

            

      8      

3.     4 2 5     

            

 1 5  6 3 8 7 0    

   - 6 0       

            

      3 8      

    - 3 0      

            

      8 7     

     - 7 5 (5 x 15)  

            

      1 2     

4.     4 2 5 8    

            

 1 5  6 3 8 7 0    

   - 6 0       

            

      3 8      

    - 3 0      

            

      8 7     

     - 7 5     

            

      1 2 0    

      1 2 0 (8 x 15) 

            

        0    

Fact Box 

1 x 15 = 15 

2 x 15 = 30 

3 x 15 = 45 

4 x 15 = 60  

5 x 15 = 75 

6 x 15 = 90  

7 x 15 = 105 

8 x 15 = 120 


